
S comparto = mq 614          

S fondiaria = mq 479          

S viabilità =  mq 135          

Sc (mq) Sc tot piani n. h (m) V (mc) Vtot (mc) if  (mc/mq) ic (mq/mq)
Sc dem 

(mq)
H piani 

Vdem    
(mc) 

Sc ampl   
(mq)

h (m)
V ampl        

(mc) 
Sctot= Satt+Sampl-Sdem              

(mq)
Vtot= Vatt.+Vampl-Vdem                      

(mc)
if prog 

(mc/mq)
ic prog 

(mq/mq)

N11-1 479,00 218,62 218,62 2,5 8,50 1.858,27     1.858,27       3,88 0,46 0 0 0 0 0 0 218,62 1.858,27 3,88 0,46

TOTALE 479            219              1.858           3,88 0,46 219                                  1.858                               3,88 0,46

AMPLIAMENTI

11a

STATO ATTUALE PROGETTO
DEMOLIZIONI

Slotto (mq)lotto n.


